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5 L8 it 5 L8 it 5 L8 )
=1 | RIS ESAR 454 519 973 197 224 421 43.39  43.16  43.27
—=K2 |FFEETT 477 493 970 163 173 336 34.17 35.09 34.64
SRS | Ekaza=T A — (SR OAEE) 607 801 1,408 234 301 535| 38.55 37.58  38.00
=4 | BELEESY B Rl 223 263 486 56 70 126| 25.11 26.62  25.93
=5 |IH =/ IR BN ER) S 159 185 344 77 85 162| 48.43 4595  47.09
=6 |+ AR AL 949 1,115 2,064 352 410 762| 37.09 36.77  36.92
SRT | SRS T 5 B 1,435 1,672 3,107 523 563 1,086 36.45 33.67 34.95
=8 | FHSER 827 929 1,756 261 265 526 31.56 28.53  29.95
=R | =ZRER M (SR EEFRN) 1,454 1,613 3,067 537 603, 1,140| 36.93 37.38 37.17
ZR10 | N\RANFAL S L\ R — L 1,192 1,224 2,416 387 401 788| 32.47 32.76  32.62
=11 (R ESR 215 246 461 81 92 173| 37.67 37.40 37.53
=12 |BRILASE 28 46 74 20 30 50| 71.43 65.22  67.57
—WR13 |ERIR2=T e H— 603 607 1,210 230 215 445| 38.14 3542  36.78
k14 |FiaRa=T e H— 195 228 423 93 102 195| 47.69 44.74  46.10
ZWR15 |RESEE 101 109 210 46 44 90| 45.54  40.37  42.86
=16 [iTN=ZI2=T B 2— 184 225 409 85 103 188 46.20 45.78  45.97
SR1T IFEMX Atz =T 2 — 140 222 362 59 80 139 42.14 36.04 38.40
=18 |BEERPESAR 135 144 279 82 85 167| 60.74  59.03  59.86
=19 [BER/NER BNIEE) 331 366 697 122 120 242| 36.86  32.79  34.72
—IR20 | P T 144 158 302 71 62 133| 49.31  39.24  44.04
—k21 | RE2EH 22 28 50 14 14 28| 63.64 50.00 56.00
=22 (MR B PR —V 482 572, 1,054 230 249 479 47.72 4353  45.45
—R23 | HEH AR 52 52 104 39 43 82| 75.00 82.69 78.85
=24 |HEIR2=T B H— 285 339 624 125 119 244 43.86  35.10  39.10
—IR25 |MERTEE P (VERTERAT) 275 329 604 123 134 257| 44.73  40.73  42.55
=26 |[FNHaR2=T B F— 396 456 852 170 194 364| 42.93  42.54  42.72
=WR27 | a =T e A — 299 351 650 99 120 219| 33.11 34.19  33.69
=28 | BN &fR 235 242 477 108 119 227| 45.96  49.17  47.59
=29 | NI N ER 215 246 461 92 118 210 42.79  47.97  45.55
—k30 IR 2=T e H— 274 314 588 118 110 228| 43.07 35.03 38.78
=31 |EfHSdVEE 148 150 298 85 87 172| 57.43  58.00 57.72
=k32 P2 =T B2 — 191 220 411 84 105 189 43.98  47.73  45.99
—iR33 |HIRET 64 85 149 41 52 93| 64.06 61.18  62.42
—k34 | ERKERE 94 99 193 47 41 88| 50.00 41.41  45.60
=k35 |AJRARE 87 108 195 60 63 123| 68.97 58.33  63.08
—IR36 [HHEASE 70 79 149 50 50 100| 71.43 63.29 67.11
—IR37 |SRIFRRAS 129 165 294 69 81 150| 53.49  49.09  51.02
—IR38 |MRATEST 71 78 149 43 40 83| 60.56 51.28 55.70
—IR39 | R EHIE Y —aE= 1,019 1,074 2,093 317 325 642| 31.11  30.26  30.67

= % it 14,261 16,152 30,413 5,590 6,092 11,682| 39.20 37.72  38.41
BEH1 |(BmHREer2— 321 398 719 167 182 349| 52.02  45.73  48.54
BEH2 |AJREANESTT 95 102 197 42 47 89| 44.21 46.08 45.18
BH3 |(MEHEMAE e 2— 87 84 171 57 55 112| 65.52  65.48  65.50
HH4 |EHEANESTT 31 41 72 25 29 54| 80.65  70.73  75.00
FHES |FOJFENEST 24 29 53 14 15 29| 58.33 51.72  54.72
FH6 |REHSEE 43 62 105 32 37 69| 74.42 59.68 65.71
BEW7 | AEWAAEGSEE A 29 23 52 21 15 36| 72.41  65.22  69.23
S |EFE T 73 82 155 45 49 94| 61.64 59.76  60.65

FER 703 821 1,524 403 429 832| 57.33 52.25 54.59
HEF1 B SNDHVEER 165 182 347 108 101 209 65.45 55.49  60.23
w2 (MAHAEETE e Z— 231 289 520 113 138 251 48.92  47.75  48.27
H¥3 | AHERE 225 257 482 102 122 224| 45.33  47.47  46.47
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A | NE NEE ST 79 91 170 59 55 114| 74.68 60.44 67.06
i B &t 700 819 1,519 382 416 798| 54.57 50.79  52.53
EARL |PERfES BIESFT 93 133 226 58 83 141 62.37  62.41  62.39
TER2 |FRILEESPT 77 88 165 48 37 85| 62.34 42.05 51.52
YEARS |l =3 NEETT 12 13 25 9 9 18| 75.00 69.23  72.00
TEAR4 |dbise NPT 67 69 136 44 45 89| 65.67 65.22 65.44
ERS | FEARMEGESGE R 2 — 110 127 237 62 69 131| 56.36 54.33  55.27
TER6 | TIEAR TR 123 122 245 69 75 144 56.10 61.48 58.78
TERT |l NPT 105 137 242 62 78 140 59.05 56.93 57.85
TEARS | RILXESFT 64 64 128 42 42 84| 65.63 65.63  65.63
EAR9 |l B NEESHT 61 69 130 43 49 92| 70.49 71.01  70.77
= 712 822 1,534 437 487 924| 61.38 59.25  60.23
mal | EERET 217 234 451 92 120 212| 42.40 51.28  47.01
ma2 SR 2 — 397 488 885 188 226 414 47.36  46.31  46.78
&3 KM= T A — 175 203 378 86 102 188 49.14 50.25  49.74
a4 | EEIEEWE SN Lk 79 96 175 58 61 119| 73.42 63.54 68.00
a5 | RE ST 173 215 388 87 103 190| 50.29 47.91  48.97
A6 |Ht A 209 280 489 117 126 243| 55.98  45.00  49.69
HET | TEESHT 68 82 150 43 51 94| 63.24 62.20 62.67
F&8 Easa=F k& — 149 199 348 64 83 147| 42.95 41.71  42.24
HEO X NEST 54 65 119 29 35 64| 53.70 53.85 53.78
HE10 [mASE 102 112 214 60 59 119| 58.82 52.68 55.61
HE1 |BEXEANESTT 49 60 109 32 29 61| 65.31 48.33  55.96
A2 | N ERAET R 62 80 142 30 40 70| 48.39  50.00  49.30
% & it 1,734 2,114 3,848 886 1,035 1,921 51.10 48.96  49.92
ZRE ([REaza=T 1 F— 187 204 391 110 120 230| 58.82 58.82  58.82
SRR Az =T A — 208 221 429 110 105 215| 52.88  47.51  50.12
= RBI3 [HAB IR 2 — 118 148 266 75 85 160[ 63.56 57.43  60.15
= B4 | =k = BT 703 788 1,491 328 377 705 46.66  47.84  47.28
= BI5 KW HARHE fiax 97 113 210 65 69 134| 67.01 61.06 63.81
= BI6 | HShdb i Z— 115 142 257 66 80 146| 57.39  56.34  56.81
= B K it 1,428 1,616 3,044 754 836 1,590| 52.80 51.73 52.23
=1 | Rliata=Toers— 155 158 313 80 81 161| 51.61 51.27 51.44
=2 | B BiaaEE 84 84 168 42 36 78| 50.00 42.86  46.43
=f3 | Bl = RESRT 74 97 171 37 38 75| 50.00 39.18  43.86
“f4 | =T B — 226 247 473 110 103 213| 48.67  41.70  45.03
=5 | F#4 BIASH 100 122 222 53 64 117| 53.00 52.46  52.70
=fn6 | =k =Rz 119 130 249 61 62 123| 51.26  47.69  49.40
=T | UAR R A — 89 99 188 40 47 87| 44.94 47.47  46.28
=8 AR a=T A — 204 243 447 90 110 200| 44.12 4527  44.74
=F9 | PR E A X AR HE ' — 88 97 185 49 48 97| 55.68 49.48  52.43
=F10 | PARaI=z=F 1B & — 239 271 510 82 87 169| 34.31  32.10 33.14
=11 (T2 =T R — MMEEESET 25 25 50 15 15 30[ 60.00  60.00 60.00
= f F#t 1,403 1,573 2,976 659 691 1,350| 46.97 43.93  45.36
Ll |IBFRBURE T 500 636 1,136 261 290 551 52.20  45.60  48.50
M2 |/hEasa=F o 2— 269 309 578 124 123 247| 46.10  39.81  42.73
3 |FEa3a=T 1t Z— 134 169 303 62 83 145 46.27  49.11  47.85
Fivd |AH-fmHafsdeEtsr 42— 50 68 118 30 37 67| 60.00 54.41 56.78
M5 | E)laia=F b 2— 141 161 302 73 82 155 51.77  50.93  51.32
Fe |fEiGdEes 2 — 13 23 36 9 14 23| 69.23  60.87  63.89
B Gt 1,107 1,366, 2,473 559 629 1,188 50.50  46.05  48.04
& =i 22048 25283 47331| 9670 10615 20,285 43.86 41.98 42.86




